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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; filf that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in hat
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
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. In the graph of 2x+ y =6 the X —Intercept is ]
: i e wx - Lwx
Lyt L/)K}/"‘ L/J.I(}D:Y J:/)Idl,? X = 2 is called ~§_t‘ﬂ-:'/ D% :__E
— Geometric Weighted Arithmetic 3w Sw
mean mean mean )
S e st b3 - b e nth K_.,/J"tpéqé.puk’n 3
Range Wortunen Y. Geometric The‘ nth root of the product of the values of a set n
mean positive values is called
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S# 2.5% 107 25% Ona erop produced an artificial resources usher is '
deducted at the rate of
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W00xesjed | aixd & D, e e

1004088 | op I e | wied 4 ol Profit% = ? where SP > CP
100 x sP B s Profit Profit
i A 100 A i —— % 100
100 + profit% . cP cp
.= ’ s PSSl | 7
Principal Interest Time * | The percentage of proﬁt/ markup charged is called
LS | wllsad | a e 25 La it Lz § s’ | 8
Sales Tax Incomea) Bxeised uty The form of a tax, which'a buyer pays on a

manufactured at the time of purchase is called
N—p %
sie » .Sy 7ol

Radical In 45, 4 is called
s ﬁg,jj':éy/fﬂ/; ?n:xﬁbta-,ﬁ.n:ﬁﬁl’tj%ﬁ .10
Exponent If Ya isIrrational where “ ¢ * is rational, Then (/c_;

is called

JUH uﬁé‘

Base

Exponent

Radical

?‘L._L:(L/)L}/}U_Vl)scs‘/’” 11

7| G.M. between 1 and 8 is
8 G=Junt Lo fa,Gb S | 12
L 1f3,GbisaGPthenG=? :

o BARI=2 IR ={(49),(54),(56) (64} 1] .13

4} IR = {(4,5),(5,4),(5,6) ,(6,4)} Then Rang of R is
ASENUBURULASIUE Ax B &S dE | 1

2° Write the number of binary relationin A x B, ifthe

number of element in A are 2 and inBare3

0,0 ’ 1,1 | The co~ordinate of orginare -l Sty [.l
=925 - 0924 -20000 (4)
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Answer briefly any Six parts from the followings.

Express the decimat as percentage 1.39

Define ratio -
Find ratio of 6 rupees each to 72 rupees per dozen.

Calculate Zakat on gold amounting Rs 15,00,000.

Calculate Ushr on arice crop amounting Rs 490,000 produced d?.u490,000\::¢)tf (f J:lg[fy J J’ lpc,éw’ J 4 //I v)

by artificial resources.

Define Ushr.

The selling price of 12 articles is equal to the cost price of

L5 articles. Find profit percentage.

Find the sélling price, when MP=Rs 728, Discount = 6%

Find marked price when S.P. = Rs 858 Discount = 127

Answer briefly any Six parts from the followings.

Convert 500000 Pakistani rupees to Euro when the.rate is

1 Euro = 340 Pk. Rupees

Define Tax.

Find the value added tax at the rate of 107 at the marked
price of a television of Rs 12000

Simplify and give answer in exponential form W
Simplify and express with p-ositive indices 3/(x™*y*)7
Define rational number and give example.

Write first two terms ‘@, = (—1)"n>

Ifa, ,=2n-12 then find a,

Define Sequence and give example.

Answer briefly any Six parts from the followings.
IfA={3,56},B={1,3)} Find Ax B & Bx A
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6x2=12 o f S en B L g e § e R hstn 3
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Eek aTa s =m-12/ (i)
._é;dﬁ»ma_f_—(_g/g(.l,iéé;w (ix)

6x2=12 Sy f el Limge §e tditn 420

-0 Bx A AxBIB={13) sA=(356)5 ()

X A U
When three sets are disjoint in 7 —_— ;uﬂhfﬂ;‘ﬁ;qufb_»‘? G

the figureshaded portion represents. %

-.;.L"//;u;ym/futf

IfA={23,579}, B={2,5} thenfind A~B=B~ A

Convert 75 °F into °C by using formula

o/ ﬂ,ﬁf;;;/‘" 926 - 0924 - 20000 __ _P.T.O

ANB=BN Ay =tiA={23579},B={25) GiD)
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Represent the point on graph AQ2,-4)

-—(02)—

i If y=2x+1 Find y when x = 0 and x =3

Find 6,2,4,3,4,5,4,5 Mode=?

| Find Harmonic mean of 2,4, 8

i Find Range 2,9,3,6,12,8 -

5(a)
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6(a)

)

7(a)

®

8(a)
(®)

9(a)
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Part : I
Note: Attempt any Thre: Questions.

A manager plans to produce 100 bicycles with the help
of 25 persons working 4 hours da:ly. How many
bicycles can be made by 40 persons if they work

3 hours daily.

Aslam, Anwar and Akram eamed a profit of

Rs. 2,50,000 from a business. If their investments in
the business are of ratio 4:7:14 respectively. Find the
profit of each.

Calculate the amount of ushar on a rice crop of weight
3000 kg produces by artificial sources. If the Price of
40 kg rice is Rs=2000

What is the difference between simple and compound
profiton Rs=25000 for 4 years at 5% ﬁer anum.
Khalid works 6 days-week. Find his gross monthly

wage. If his rate of pay is Rs 200 per day.
2536%2.4569
847.5

Evaluate using Logarithm

Ifthe A.M between ‘a’and ‘10’ is “40”. Then find value of ‘a’,

IfA={1,7,11,15,1721} ,B={1 1,17,19,23} and
C={2,3,5} verify that
(ANB)NC=A4AN(BNC)

Draw the figure with the help of the following points
on the graph paper A(7,2) B(-6,-3) C(5,3)

Find the variance for the values 1,2,3,4,6,8,11
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Ax=3ux=0LZb yicy=2x+1.01 ()
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#A={1,7,11,151721},B={11,17,19231.] (b
& =92 C={2,3,5)
(ANBYNC=AN(BNC)
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Note:~ You have four choices for each objective type question as A, B, C and D, The choice,
front of that question number. Use marker or pen to fill the circles. Cutting or fill
question. Write PAPER CODE, which is  printed on this question paper, on the b

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is norallowed

which you think, is correct; fill that circle in
ing two or more circles will result in zero mark in that
oth sides of the Answer Sheetand fill bubbles accordingly,

| (D) (C) (B) (A) ] QUESTIONS Q-1
le(j/’ Lrst 2o b _c‘:_&Mafd)ﬁub/Juﬁ:lr.,?/”‘Jr .1
Geometric . The middle values of data arranged in numerical order
Whedn Mean Median Mode teaalllad
107 137 30 13 0.13 as percentage is VFSedo13=2] 2
3 10 7 b g Fraction form of 707 is Fu 07 | 3
7 7 10 3
1 1 11 o1 oVl et e By L | 4
2'g 24 2’3 9% e Ifthere is one daughter and agnatie grand daughters,
. there share are respectively
edfedviied | OIS e st .;‘5;/'&59_}.;,2 wsipedeyod /ﬁ%bb“u/gflbg 5
SP>CP | NoneofThese | Sp<(Cp SP = CP ,
Profit is earned when
;w:’:a}(yﬂ 8L? _w;,h:uf /‘b_]cff 4_&11‘4/2.(964]/33//&’:@; .6
Marked Price Profit SP CP The price at which a particular item is purchase(,d is called
et s >l =< = The Curpen‘cyidfMafj;sia 18 -c"..(f/(ﬂ?/u 7
Riggit Bhat Peso Rupiah B % = L0 R
$2 4 38 9T eSS EE e | s
Lessee Drawer Insured Insurer The person or entity whose insurance is being done is called the
Jg’fl Jgngtg Jg.:/w/, ugiy/u/g -wg[ffu:fufw?ﬁ;}wfgﬁ 9
Income tax | Property tax Direct tax 'Indirect tax | Taxes of the form of duties, motor vehicle taxes are called
) g_ua(}!’t/;é g_mJ”t c‘,)ﬁg k12 +\/3~~€X.(§—U§;/]g».g\/2 ++3 | .10
rati i ' :
exponent I;i:g;?l }:1321(;)1:3? Integer 2 ++/3 isnot radical, because 2 + V3 is
(2 gy ,«4’(}? b ?%’gf_\yf[-"d/uffdfgji;ﬁu/ 11
Mantissa Dic;rt?al Real part Qharacternshc In the logarithm of a number, The decimal part is called
i 5 1
eVt eda, =—r | 12
. 1 1 i S 2, (2n-1)*
1
4l o & Fourth term of a, = e
(2n~1)
e lbsgT Ul 33 3 | 13
443 943 SNE) 243
A Mbetween +/3 and 343 is
BUA B4 ANRB ) AﬁBz?;un»_‘»g:’(Overlapping)J;«‘pB sa S| 14
If A and B are two non-empty overlapping sets, then
ANB=7? i
s Y L - S b b e X8 lsT | 15
Horizontal line Ordinate Abscissa Origin The perpendicular distance Of.:;i point from X~axis is called
= 927 ~ 0924-15000 (2)
/ﬂ/"/f‘/’:/{"
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o Partee el >
Answer briefly any Six parts from the followings. 6x2=12  _ v ), el o £1'/.hgc_df =St 2
Define proportion. ' : -q/;_,gf/‘;Jﬁ_/(;
b 3 " -~ .
Express of the ratio in the simplest form 32 5 " 32 : 33- &b, LR L}(’uw Sl
If82% of the house have a television, what g the percentage of uﬁ;uijdf‘ufu:/fjﬂ(jZ?unub(fufu;/gﬁj
the houses which do not have? ’ [
Calculate zakat on silver amounting to Rg 3,00,000. ,Z;f (;L’” 3;'6‘4@0;1%;13,00,000 @JLJ dﬂgﬁ
‘Najeeb Left a wealth amounting to Rs 4,00,000. ye left behind a ;éga,_/é.m_;};g’u:m.‘;_r“guzl,oo,ooo.L;,j
widow, while they did not have any child. Find the share of f}l‘”,av!fu:-(f %ﬁjﬁ;édlf ugﬁu‘.&?u’bﬁ’ i L]
Najeeb’s widow. &
I Caleulate Ushr on 4 rice crop amounting Rs 4,90, 09 produced +694,90,000 21§ W= J;%Jﬁ G lpgébj(f =0
by artificial resources, . -’.é()b"/"";f
(‘; Define profit, ) . ..(,[/»g/}TJZ;W oG
had 3
v r\\ Find the SP, when Cp = Rs950 , profit=10z T afed=o50 & =102 ,,éié’pﬂv&,/@g (v
S o Find the marked price, when Sp = Rs51520 » Discount=8# &;}c—x}:S 1520 é.)/,ub:f:S"‘Z:f)"’l:‘faﬁ@» (i
N )
Ce Answer briefly any Six parts from the followings, LS I T A Linge . =Udits 34,
h Define insurance policy. -LJ//L/QJ:/LAA 6
e T X F
< Define income tax. -L[/uy/’(ﬂfg,fl Gi)
L, The annual income of a flate i g 14,00,000. Find the oy M g, S0 161 e 14,00,000 =3 oy L g £ GiD
payable at a rate of 1647 . -”é’r;h‘gf?d{j/__‘
Simplify x5 3% : X s oh o (iv)
7.9 7.9
" . [x [x W
Write'in exponential form 3 f 3 ~v4y\ _é'ﬂﬂfl/;w’ (€5
Z 2z
10000. Write In'scientific nNotation, 10000, aﬁu:ff;u,':(/ (o)
Simplify 3/4 %3178 V4128 s (vi)
Wite frst thee terms of g, = 37,4 5 C G =S i g (viif)
Find G.M of -2 apg -5 ' B2 Z e Gy

928 -~ 0924 - 15000 (p.T.0)
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wer briefly 8y Qi ¢ parts from the followings: px2=12 Ev )/ L7 ./UY/‘; Liiiia{(}fcfu:d.i@» ~4/12 Jir
2345 p=(2468 Tpén verify et o eI 4.5y,8=(24.68) L@
3=BV A AuB= BuUA
1345 and B={2,4,6,8} Jhen find A-B,BA A-B,B-A 5(}*”9,«1&/{2 345),B= 246 2} S G
. Setand give example. _ é;dvm Z:J 7 J g Giv
sent the point A, -4 on graph- _EE b4 aiSinG ) Gv)
o7 PFin C Wit R elp of formule PATIvSS L S A91°F owlSur W
e Origit and represent it in figure- é AU J’// &éJ 7 J i (v)
monthly jncome of 8 petsons 1000, 4000, 3500, 4500, ,«.i A(\,Ju/;l 8 (vii)
)0, 4200,3600, 5400 Find their Arithme‘lic mean. 3000, 4000,3500,4500 3300, 4200, 3600, 5400
aé ()” k/a‘d‘/‘{u
_fine Histogram: Py RO (viid)
or the data set & 2 ABASAID find the median & Aes€ 6 2 ABASAIR e G0
Part—w——""" P (»-..-«_« ------
Note* Attempt 20 Three Questions- gx3=24 <l by f eMe Wy J.f f/L,B:( RV
5(a). 8 persons cando ajob in 24 days if 4 more persons §¢ joined uf\gnJl'}j,’)_«,/Af/(l u}l,f ¥ 92 f(b’.,g Sz @5
them, how much 1me they will take tO complete the same 30\) T U 9 Z( (U";
Q)] stmbute Rs 200,000 as 2 profit in 8 business regarding fhree S0 Ly )élZg (uj ffo] /200,000 =% #et )
persons, if their shares are inthe atio 32 5 Sy 3'-2'-5..;»%j
ga). AD amount of RS: 4,00,000 left 88 an inhieritance is 10 be S JAE Uz g 4! o, é:,iz,f ./g\/(‘ (a)6
distributed among 8 widow and four daughters workout! the share of -E’i: ( & :/l..\u( gLt /:Ji.y'" 13 G:’-W_/ul’f,()O,OO
eacl.
(p) Findthe compound profit ofRs. 5000 at 4% p.a for 7, years and ov LS\J@ & 5000 3, L6 Jv2 U/ 4% )
6 months- I a0 R
7(a). The gross nonthly pay £ 2 person 18 Rs 75000, IERS 1500, /,,ulSOOﬁ - &£2/15000 04T 184 &\.Ju‘f L @1
Rs 1200 and Rs 1800 are deducted 38 income ta%; benovalem fund L}__J..ngj:f’,if u’c {l /La_.,aASO()m psA200
and G.F- fund reSpectwe\y then calculate the net galary will take ‘ K,\p",, pu/‘ﬁdtu‘i wh)/ii\/
nome by the person-
(p) Evaluate using Jogarithum table BAT b M é J’ Sk J (3{ )K:’ ®
47. g2 x52. 24 47. g2 x52. 24
3(a) FmdtheBOthte mofaGP X 1,— \ Z(}’”( u,acé,w&/ %, 1= 1 (a)8
(p). Verify that AuBVO= Au(Bu(,) AuBVO~ AuBVC )fuf_/x ®
A={246},B% =(369:121, 7 (46,810} A={246) B={3.69 }.C _{4 68,10
9(a). Draw the graph ¥ o y=73 S (29
2 2
(p) Find standard geviation for ihe values b 234,68} 1. ’,:‘f()’” JVUJ\;’“ 23 ,4,6,8,11 N )]
928 ~ 0924 - 15000

el R




